
(1) 
 

R A M A K R I S H N A  M I S S I O N  V I D Y A M A N D I R A  

(Residential Autonomous College affiliated to University of Calcutta) 
 

B.A./B.Sc. FIFTH SEMESTER EXAMINATION, DECEMBER 2016 
THIRD YEAR (BATCH 2014-17) 

Date : 12/12/2016 PHILOSOPHY (Honours)  

Time : 11 am – 3 pm Paper : V Full Marks : 100 

 
 

 
 

S²Ìöì“þÄ„þ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þîûV 
 

!î¦þy† éôé „þ 
£zvþz!˜Ýþ éô 1 

 

1Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV x %̃¦þî ç ßþ¿,!“þîû þ™yíÅ„þÄ „þîûÐ x˜%¦þî „þëû ²Ì„þyîû ç „þ# „þ#Ú x %̃¦þöìîîû xy×ëû „þ#Ú 

 …V x§¬‚¦þöìRîû ›öì“þ ²Ì“þÄÇþ ²Ì›yîû „þîû’ ç îÄyþ™yîû „þ# “þy vþzöìÍÔ… „þîûÐ ²Ì“þÄÇþ ²Ì›yîû öÇþöìe !“þ!˜ „þîûöì’îû ö„þy˜ä 
œÇþ’ @ùÌ£’ „þöìîûöì․é˜Ú 

 †V ¢!î„þÒ„þ ç !˜!îÅ„þÒ„þéôôôé~£z ”%£z ²Ì„þyîû ²Ì“þÄÇþ ßþº#„þyöìîûîû ¢þ™öìÇþ ë%!_«=!œ „þ#Ú 

 ‡V ”)îûßþi Ÿöì·îû ²Ì“þÄÇþ !„þ¦þyöìî ¢½þîÚ éôôôé x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû îÄy…Äy „þîûÐ 
 

2Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV “þ„Åþ¢‚@ùÌöì£ ²Ì”_ ßþ¿,!“þîû œÇþ’!Ýþ vþzöìÍÔ… „þîûÐ ”#!þ™„þy x %̃¢îû’ „þöìîû ßþ¿,!“þîû œÇþ’ îÄy…Äy „þîûÐ x§¬‚¦þR ëíyíÅ 
ßþ¿,!“þ ç xëíyíÅ ßþ¿,!“þîû ›öì„Ä „þ#¦þyöìî þ™yíÅ„þÄ „þöìîû˜Ú ö“þy›yîû „þöìœöì‥îû ²Ìí› !”˜!Ýþîû ëíyíÅ ßþ¿,!“þöì„þ !„þ ²Ì›y 
îœy ëyëûÚ xyöìœy‣þ˜y „þîûÐ S2 + 6 + 3 + 4V 

 …V “þ„Åþ¢‚@ùÌ£ x %̃¢yöìîû „þyîûöì’îû œÇþ’!Ýþ îÄy…Äy „þîûÐ ”#!þ™„þyöì“þ „þyîûöì’îû œÇþ’!Ýþ ö„þ˜ ~î‚ „þ#¦þyöìî þ™!îû›y!‥Å“þ S6V  

  £öìëûöì․éÚ !˜Á¬!œ!…“þ öÇþe=!œöì“þ ö„þy ä̃!Ýþ ö„þy ä̃ ²Ì„þyîû „þyîû’‟ “þy vþzöìÍÔ… „þîû ƒ S3V 

  iV mÄ’%öì„þîû ²Ì!“þ þ™îû›y’%möìëûîû ¢‚öìëy† „þyîû’Ð S1.5×4V  

  iiV ¢%öì…îû ²Ì!“þ xydy „þyîû’Ð  

  iiiV ‡Ýþ„¹‚öì¢îû ²Ì!“þ ‡Ýþ „þyîû’Ð  

  ivV cy‣þä²Ì“þÄöìÇþîû ²Ì!“þ c!†!wëû „þyîû’Ð  
 

£zvþz!˜Ýþ éô 2 
 

3Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV “þ„Åþ¢‚@ùÌ£ x %̃¢yöìîû þ™Çþ‟ ¢þ™Çþ ç !îþ™Çþ ”,ÜTyhsþ¢£ îÄy…Äy „þîûÐ 

 …V x %̃›yöì˜îû öÇþöìe ²Ìí› !œÇþ”ŸÅ˜!Ýþ „þ#Ú éôôôé x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû xyöìœy‣þ˜y „þîûÐ 

 †V þ™îûyíÅy˜%›yöì˜îû ²Ì!“þ!Ýþîû xîëûöìîîû ²Ìöìëûy‥˜#ëû“þy îÄy…Äy „þîûÐ 

 ‡V ¢êöì£“%þîû ÷î!ŸÜTÄ=!œ „þ# ~î‚ “þy îy!„“þ £öìœ x %̃›yöì˜ „þ# ¢›¢Äy ö”…y ö”ëûÚ S3 + 2V 
 

4Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV “þ„Åþ¢‚@ùÌ£ ²Ì”_ þ™îûy›öìŸÅîû œÇþ’!Ýþ îÄy…Äy „þîûÐ ö„þ˜ þ™îûy›ŸÅ xßþº#„þyöìîû x %̃!›!“þ x %̃þ™þ™§¬ £ëûÚ þ™îûy›ŸÅöì„þ 
“,þ“þ#ëû !œD þ™îûy›ŸÅ ö„þ˜ îœy £ëûÚ S5 + 5 + 5V 

 …V !˜Á¬!œ!…“þ x %̃›y˜=!œîû öÇþöìe ¢y„Ä‟ þ™Çþ ç ö£“%þ !˜öì”ÅŸ „þöìîû ö£“%þ!Ýþ ö„þ˜ ”%ÜT “þy îÄy…Äy „þîûÐ Söëöì„þy˜ 

!“þ˜!ÝþV S3 × 5V 

  xV ›!’›ëû þ™îÅ“þ î!£«›y ä̃ öëöì£“%þ “þy „)›îy ä̃Ð 

  xyV mÄ’%„þ !˜“þÄ öëöì£“%þ “þyîû „þyîû’ xyöì․éÐ 

  £zV î!£« Ÿ#“þœ‟ öëöì£“%þ “þy vþz¡…ßþº¦þyîÐ 

  {V þ™îÅ“þ!Ýþ î!£«›y ä̃ öëöì£“%þ “þy öKþëûÐ 

  vþzV x¦þyî x!˜“þÄ‟ öëöì£“%þ “þyöì“þ x¦þyîc xyöì․éÐ 



(2) 
 

 

!î¦þy† éôé … Sþ™yØþy“þÄ “þ„Åþ!î”ÄyV 
£zvþz!˜Ýþ éô 1 

 

5Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV ‗Exportation‘éôé~îû ¢)e!Ýþîû ¢y£yöìëÄ „þ#¦þyöìî ²Ìy„þ!Ò„þ ²Ì›yöì’îû !î!„!Ýþöì„þ ÷î„ ²Ì›y’ „þîûy ëyëûÚ 

 …V þ™öìîûyÇþ ²Ì›y’ þ™kþ!“þöì„þ ö„þ˜ ~„þ!Ýþ !îîû&kþ x!¢!kþ þ™kþ!“þ îœy £ëûÚ 

 †V ~„þy!„„þ îyöì„þÄîû ›öì„Ä ¢D!“þþ™)’Å“þyîû ¢!àþ„þ ”,ÜTyhsþ (model) îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ îÄy…Äy „þöìîûyÐ 

 ‡V ¢“þÄŸy…# þ™kþ!“þîû myîûy „þ#¦þyöìî ”%!Ýþ îyöì„þÄîû ›öì„Ä öëï!_«„þ ¢›yíÅ“þy !˜’Åëû „þîûy ëyëûÚ vþz”y£îû’¢£ îÄy…Äy 

„þöìîûyÐ  

 

6Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV iV vþz”y£îû’¢£ ö”…yç „þ#¦þyöìî ¢îœ ²Ìy„þ!Ò„þ ²Ì›y’ !î!„îû ¢yì£yöìëÄ ö„þyöì˜y ë%!_«îû ÷î„“þy ²Ì›y’ „þîûy 

£ëûÐ S4V 

  iiV !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î„“þyîû ²Ìy„þ!Ò„þ ²Ì›y’ ”yç ƒ S4V 

   A (B C)   

   C (D E) / A (B D)      

  iiiV þ™öìîûyÇþ ²Ì›y’ þ™kþ!“þîû îÄî£yîû „þöìîû !˜Á¬!œ!…“þ îy„þÄ!Ýþîû ßþº“þƒ¢“þÄ“þy ëy‣þy£z „þöìîûy S4V 

   A [A (A B)]    

  ivV ¢îœ ²Ìy„þ!Ò„þ ²Ì›y’ !î!„îû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î„“þy þ™îû#Çþy „þöìîûy S3V 

   (E F) G   

   H (I J) / (E G) (H I)       

 …V iV vþz”y£îû’¢£ îy„„þ ”,ÜTyhsþ îœöì“þ „þ# öîyGþyëû “þy îÄy…Äy „þöìîûyÐ S3V 

  iiV ¢“þÄŸy…# þ™kþ!“þöì“þ !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î„“þy !î‣þyîû „þöìîûy ƒ  

   ›!îûëûy!ÝÅþ þ™yœyöìî ë!” ˜y ö£y›ä¢ ¢!e«ëû £˜Ð xy›îûy çëûyÝþ¢öì̃ îû vþzþ™îû xyßþiy îûy…î ö„þîœ ë!” ö£y›ä¢ 

¢!e«ëû ˜y £˜Ð ¢%“þîûy‚ ö£y›ä¢ ë!” ¢!e«ëû ˜y £˜‟ ›!îûëûy!ÝÅþ þ™y!œöìëû ëyöìî ë!” ˜y xy›îûy çëûyÝþ¢öì̃ îû 

vþzþ™îû xyßþiy îûy!…Ð S4V 

  iiiV ¢“þÄŸy…# þ™kþ!“þ îÄî£yîû „þöìîû !˜Á¬!œ!…“þ îy„þÄ=!œ þ™îûßþ™öìîûîû öëï!_«„þ ¢›yíÅ„þ !„þ˜y “þy ëy‣þy£z 

„þöìîûyƒ A, A (A B)   S4V 

  ivV ¢“þÄŸy…# þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ îy„þÄ!Ýþ ßþº“þÄƒ¢“þÄ !„þ˜y !˜’Åëû „þöìîûyƒ S4V 

   (A B) ( A B)      

£zvþz!˜Ýþ éô 2 
 

7Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV îy‣þÄ þ™” ç îy‣þ„þ þ™öì”îû ›öì„Ä þ™yíÅ„þÄ „þ#Ú  

 …V vþz”y£îû’¢£ xöì˜„þyíÅ„þ‟ ~„þyíÅ„þ ç èþ™!›„þ þ™öì”îû ›öì„Ä þ™yíÅ„þÄ ö”…yçÐ 

 †V „þ…˜ ”%!Ýþ þ™”öì„þ þ™îûßþ™öìîûîû ò¢›þ™!îû!›!“þ !î!ŸÜTó îœy ëyëûÚ 

 ‡V xyþ™!“þ„þ „›Å îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ ¢‚öìÇþöìþ™ îÄy…Äy „þöìîûyÐ  
 

8Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV þ™” îœöì“þ „þ# öîyGþyëûÚ Ÿ· ç þ™öì”îû ›öì„Ä þ™yíÅ„þÄ „þ#Ú vþz”y£îû’¢£ ¢”íÅ„þ‟ ˜~…íÅ„þ ç £#˜yíÅ„þ þ™öì”îû ›öì„Ä 

þ™yíÅ„þÄ îÄy…Äy „þöìîûyÐ S3+4+8V 

 …V þ™!îû!šþ!îûîû ›öì“þ !îöì„ëû„þ „þ# „þ#Ú öëyöì¢šþ „þ#¦þyöìî þ™!îû!šþ!îûîû !îöì„ëû„þ ¢‚e«yhsþ ›“þîy” …[þé˜ „þöìîû˜Ú 

 

 



(3) 
 

xíîy– 

!î¦þy† éôé … Sþ!£vþz›V 
 

9Ð öëöì„þyì˜ ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S4×5V 
 

 „þV £z!wëû‥ îy ․éyþ™ îœöì“þ „þ# öîyöìGþyÚ 

 …V !£vþz› ²Ì”_ „yîû’yîû œÇþ’ ”yçÐ 

 †V ”%öìîÅy„Ä ç ¢îûœ ”ŸÅöì˜îû ›öì„Ä þ™yíÅ„þÄ „þ#Ú 

 ‡V òòþ”yŸÅ!˜„þ £ç‟ !„þlsþ ö“þy›yîû ¢›hßþ ”ŸÅöì˜îû ›öì„Ä ›y %̃¡ì £çóó éôôôôé îÄy…Äy „þöìîûyÐ 

 •V „yîû’yîû ¢Áºõþ!î¡ìëû„þ Kþy˜ îœöì“þ „þ# öîyGþyëûÚ 

 ‣þV ․éyþ™ ç „yîû’yîû þ™yíÅ„þÄ „þöìîûyÐ 

 ․éV îyhßþî îÄyþ™yîû !î¡ìëû„þ Kþy˜ îœöì“þ „þ# öîyöìGþyÚ 

 ‥V x!„!î”Äy ¢Áºöìõþ !£vþzöì›îû ”,!ÜT¦þD# „þ#Ú 
 

10Ð öëöì„þyì˜ ”%!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2×15V 
 

 „þV „þyëÅ ç „þyîûöì’îû ›öì„Ä ö„þyöì˜y xyî!ŸÄ„þ ¢Áºõþ xyöì․é !„þÚ !£vþzöì›îû ›“þîy” x %̃¢yöìîû xyöìœy‣þ˜y „þöìîûyÐ 

 …V !£vþzöì›îû ›öì“þ „yîû’yîû x %̃¡ìöìDîû ˜#!“þ=!œ îÄy…Äy „þöìîûyÐ 

 †V þ™)îÅî“þ#Å ¢‚Ÿëûîy” ç x %̃î“þ#Å ¢‚Ÿëûîyöì”îû ›öì„Ä !£vþz› „þ#¦þyöìî þ™yíÅ„þÄ „þöìîû̃ Ú !£vþzöì›îû ¢‚Ÿëûîy”öì„þ ö„þ˜ 

¢‚ë“þ ¢‚Ÿëûîy” îœy £ëûÚ xyöìœy‣þ˜y „þöìîûyÐ 

 ‡V òò...„þyîû’¢›)£ ç „þyëÅ¢›)£ xy!îÜñyîûöìëy†Ä‟ ë%!_«îû myîûy ˜ëû îîû‚ x!¦þKþ“þyîû !¦þ!_öì“þ...óó éôôôôé !£vþzöì›îû 

›“þy %̃¢yöìîû îÄy…Äy „þöìîûyÐ 
 

English Version 

(Use a separate Answer book for each group) 
 

Group – A 
 

Unit – I 
 

1. Answer any two questions of the following: (2 × 5) 

 a) Distinguish between anubhava and smṛti. How many kinds of anubhava are there and 

what are they? What is the locus of anubhava? 

 b) Following Annaṃbhatta point out the Karaṇa and the Vyāpāra in case of pratyakṣa 

pramā. Which lakṣaṇa of Karaṇa has been accepted by Annaṃbhatta in the case of 

pratyakṣa pramā? 

 c) What are the arguments in favour of accepting two types of pratyakṣa – savikalpaka and 

nirvikalpaka? 

 d) How is the perception of a distant sound possible? Explain after Annaṃbhatta. 

2. Answer any one question of the following: (1 × 15) 

 a) State the definition of smṛti as mentioned in Tarkasaṃgraha. Elucidate the definition of 

smṛti following Dīpikā. How does Annaṃbhatta distinguish between yathārtha and a-

yathārtha smṛti? Is the veridical memory (yathārtha-smṛti) of the first day of your 

college a case of pramā? Discuss. (2 + 6 + 3 + 4) 

 b) Explain the laksaṇa of Kāraṇa after Tarkasaṃgraha. Why and how is the laksaṇa of (6) 

  Kāraṇa revised in Dīpikā? Point out what kind of Kāraṇa is exemplified in the following 

cases : (3) 

  i) Conjunction of two atoms is a cause of dyād. (1.5×4)  

  ii) Self (Atman) is a cause of pleasure residing in that self.  

  iii) A jar is a cause of destruction of that jar.  

  iv) The sense-organ of touch is a cause of tactual perception. (4) 



(4) 
 

 

Unit - II 
 

3. Answer any two questions of the following: (2 × 5) 

 a) Explain with examples the concepts of pakṣa, sapakṣa and vipakṣa after Tarkasaṃgraha. 

 b) What is the first linga darśana in case of inference? – Discuss following Annaṃbhatta. 

 c) Explain the significance of each avayava of a Parārthānumāna. 

 d) What are the marks of a sat hetu and what problem arises in the inference if those are 

violated? (3 + 2) 

4. Answer any one question of the following: (1 × 15) 

 a) Explain the definition of parāmarśa as stated in Tarkasaṃgraha. Why does not inference 

occur on denial of parāmarśa? Why parāmarśa is called tṛtíya linga parāmarśa? (5 + 5 + 5) 

 b) i) The jeweled mountain is fiery, because it has smoke. 

  ii) A dyad is eternal because it has a cause. 

  iii) Fire is cold, for it is of the nature of heat. 

  iv) The hill is fiery because it is knowable. 

  v) Abhāva is non-eternal, because it possesses abhāvatva. 
 

Group – B ( Western Logic) 
 

Unit – I 

5. Answer any two questions of the following: (2 × 5) 

 a) How is the validity of the rule of C.P proved by the principle of Exportation? 

 b) Why was I.P method called a proof by reductio ad absurdum? 

 c) What is the meant by the model of the consistency between two or more sentences? 

Explain with examples. 

 d) How can it be determined that statements are logically equivalent by the truth tree 

method? Explain with examples.  
 

6. Answer any one question of the following: (1 × 15) 

 a) i) How can the validity of an argument proved by using the strengthened rule of C.P? 

Explain with illustration. (4) 

  ii) Give the conditional proof of validity of the following argument : (4) 

   A (B C)   

   C (D E) / A (B D)      

  iii) Verify that following sentence is a tautology by using I.P Method : (4) 

   A [A (A B)]    

  iv) Test the validity of the following argument by the strengthened rule of C.P. (3) 

   (E F) G   

   H (I J) / (E G) (H I)       

 b) i) Explain with illustration, what is meant by ‗counter example‘. (3) 

  ii) Test the validity of the following argument by truth tree method : (4) 

   Moriarty will escape unless Holmes acts. We shall rely on Watson only if Holmes 

does not act. Therefore, if Holmes does not act, Moriarty will escape unless we 

rely on Watson. 

  iii) Use truth tree method, to verify whether the following sentences are logically 

equivalent with each other : (4) 

   A, A (A B)   

 

 



(5) 
 

 

  iv) Determine by truth tree method whether the following is a tautology : 

   (A B) ( A B)      
 

Unit - II 
 

7. Answer any two questions of the following: (2 × 5) 

 a) What is the difference between terms of thought and terms verbal? 

 b) Explain with examples the distinction between equivocal, univocal and analogous 

terms. 

 c) When are two terms called ‗commensurate‘ with each other? 

 d) What is meant by accident? Explain briefly with illustration. 
 

8. Answer any one question of the following: (1 × 15) 

 a) What is meant by ‗term‘? What are the differences between word and term? Explain 

with illustrations the distinction between positive, negative and privative terms. (3+4+8) 

 b) What according to Porphyry, are the different kinds of predicable? On what grounds 

does Joseph refute Porphyrian doctrine of predicable? (2+13) 
 

 

OR, 

Group – B (Hume) 
 

9. Answer any four questions : (4×5) 

 a) What do you mean by ‗impression‘? 

 b) Define ‗idea‘ after Hume. 

 c) What are the differences between abstruse and simple philosophy? 

 d) ―Be a philosopher, but amidst all your philosophy be still a man‖—explain. 

 e) What is meant by knowledge concerning relations of ideas?  

 f) Distinguish between impression and idea. 

 g) What do you mean by knowledge concerning matters of fact? 

 h) What is Hume's attitude towards metaphysics? 
 

10. Answer any two questions : [2×15] 

 a) Is there any necessary connection between cause and effect? Discuss with reference to 

Hume's view. 

 b) Explain the laws of Association after Hume. 

 c) How does Hume distinguish between antecedent scepticism and consequent scepticism? 

Why is Hume's scepticism called moderate scepticism? Discuss. 

 d) ―Causes and effects are discoverable, not by reason but by experience...‖ —explain after 

Hume. 
   



———— × ———— 
 


